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Muydwuwghp Yupbint npnadwu dwuht

Lupwgwlupgh swéughpp' <<L-OUULNUY-GLUNIL-17/1>>

<<ohdtinuwl>> J/dwulwuwwnuintiq <NUY-p unnpl ubipYuywgunid £ hp Ywphpubiph hwdwp utunwdetipph
&tinppbpdwt uwywwnwyny Yuqiwlbpuyjws <<2L-oUULNUY-GLUMAL-17/1>> dwolwagpny qudwu pupwgwlwngh
wpryntupnid wwydwuwghp Yupbint npnodwit dwuht wbntwwnynigyniup:
SQuwhwwnnn  hwuduwdnnnyh 2017 pywlwuh hnlunbdptiph 09-h phy 4 npnpdwdp  hwuwnwnyby Gu

pupwgwlwngh  pninp Jwutwyhgubph - Unndhg  ubpluywgdws  hwpnbph® - hpwdbiph wwhwgubiphu
hwidwwwwnwufuwunipywl quwhwwndwlu wpryniuputipp: <wdwdwyu npp’
Qwihwpwdht 1: Sudwu wnwplw b hwunhuwund Yinp pphudh dtnpptipnudp.
<pwybiph <pwytiph Uuhwdwww-
wwhwugubiphu wwhwugubiphu nwufuwunLRjwu
<h Uwutiugh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn
fuwtunn hwywnbp juwunn hwjwnbip uywpwgpnipjntu
1 U/ Qujwubk Ubkjpnujwi X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiwtnuip ny lhg ght ( rm?u 0 q
1 U/ Guywub Ukpnuju X 122,0

Cunpqwsd dwutuwlght npnobint fhpwnyws swihwuhy' <<Gunwdubph dwupti>> << opkuph 34-pn hnnJws:

Quithwpwdht 4: Sudwu wnwpyw £ hwunthuwunud gnpGuh wyniph dGnppGpnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhuwugubphu wwhwugubiphu nwufuwunLRjw
<h Uwutiulgh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwywnbp fuwunn hwjwnbip ulwpwagpnipjniu

1 U/ Qujwub Ubkjpnuywi X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp Ugh wuywiunidp ny lhg ght ( rm?u n q
1 U/ Guyuuk Ubkpnujw X 27,6

Cunpqwsd dwutuwyght npnobint hhpwndws swihwuhy' <<%unwdubph Jwupu>>

Quwithwpwdht 5: Sudwu wnwpyw E hwunhuwunwd Ywpwnnyhih dGnppbpnudp.

<< opkuph 34-pn hnnpjws:

Lpwybiph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
<h Uwutiugh wtjwindp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwywnbp fuwunn hwjwnbip uywpwagpnipjniu

1 U/ Quywub ULpnujuu X
Uwuuwlygh wnwownlwd
Uwutwlyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbignws wnbnbnp Ugh wuywiunidp ny lhg ght ( qn?u 0 q
1 U/ Guywubk Ubkpnujw X 292,5

Cunpqwsd dwuuwlght npnobint hhpwnyws swihwuhy' <<Sunwfubpp Jwupt>>

Quithwpwdhu 6: Sudwu wnwplw £ hwunhuwuntd gnifu unfup dGnppbpnudp.

<< opkuph 34-pn hnnyué:

<pwybiph <pwytiph Uuhwdwuww-

wwhuwugubiphu wwhwugubiphu nwiufuwuntjwu
<h Uwutiugh wtjwinudp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu

1 U/ Quyuub Ukpnujuu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywé dwutw U (wnwug UUZ, hwg.
qpwnbgnwd wbnting Ygh wuywunrdp ny lhg ght ( rm?u 0 q
1 U/ Guywuk Ubkpnujw X 18,0

Cunpwé dwutwlghu npnptint Yhpwnyws swihwuhy' <<%unuiutiph Jwuhtu>> << opbuph 34-pn. hnndwé:

Qwihwpwdht 8: Fudwu wnwplw b hwunhuwuntd ququph dknppbipnudp.




<pwybiph <pwytiph Uuhwdwww-

wwhwugubtphu wwhwugubphu nwufuwuntRjwu
</ Vuwtulgh widuinup hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwywnbip fuwunn hwjwnkip uywpwgpnipntu

1 U/ Quywub Ubpnujuu X
Uwutwygh wnwownljws
Uwutwlhgubtipp
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpuinbignwd wbnbpp Ugh wuijwunwip nys lhg ght ( rm?u p q
1 U/ Guywub Ubpnujui X 30,0

Cunpqwsd dwuuwyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupus>> << optiuph 34-pn hnnws:

Quithwpwdht 9: Sudwu wnwplw £ hwunhuwund éwlunbinh dknppbpnidp.

<pwybiph <pwytiph Uuhwdwww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
< Vuwutulgh widuibnup hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwywnbip fuwunn hwjwnkip uywpwgpnipntu

1 U/ Quywub Ubpnujuu X
Uwutwygh wnwownljws
Uwutwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpuwinbgnwsd wnbnbnp Ugh wuwunwip nys lhg ght ( rm?u p q
1 U/ Guywub Ukpnujut X 20,0

Cunpqwsd dwutuwlyght npnobint fhpwnyws swihwuhy' <<Gunwdubph dwupt>> << optiiph 34-pn hnnws:

Quithwpwdht 11: Sudwu wnwplw £ hwunhuwunid hwinhwdnp (npne 8Gnppbpnudp.
<pwybph <pwytiph Uuhwdwuww-

wwhuwugubphu wwhwugubiphu nwufuwunLRjw
</ Vuwtulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwyjinbip fuwunn hwjwnbip uywpwgpniniu

1 W/ Guyuuk Ukpnujw X
Uwutwygh wnwownljws
Uwuuwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiywtnwip nu lhg ght ( rm?u 0 q
1 W/ Guyuuk Ubkpnuywi X 48,0

Cunpqwsd dwutuwyght npnabint hhpwndws swihwuhy' <<Gunwdubph dwupu>> << optiuph 34-pn hnnws:

Quithwpwdhtu 22: Sudwu wnwplyw £ hwunhuwunu nbindh dGnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
</ Vuwutulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

fuwunn hwjwnbp juwunn hwjwnbip uywpwgpnipjniu

1 W/ Guyuuk Ukpnujw X
Uwuuwlygh wnwownlwd
Uwuuwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiywtnwip nu lhg ght ( r}n?u 0 q
1 U/ Quywub Ubkjpnujwi X 33,0

Cunpqwsd dwuuwyght npnobint fhpwnyws swihwuhy' <<Gunwfubph dwupus>> << optiuph 34-pn hnnws:

Quithwpwdht 23: Sudwu wnwplw £ hwunhuwunwd Yhyhh sknppbipnudp.

<pwybph <pwytiph Uuhwdwww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwu
< Vwutulgh widuinup hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjwnbp juwunn hwjwnbip Uywpwgpnipjniu

1 U/ Qwjwub Ubkjpnujwi X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp Ugh wywtinuip ny Uhg ght ( r}n?u n q
1 U/ Quywub Ubkjpnujwi X 14,4

Cunpqwsd dwuuwyght npnobint fhpwnyws swihwuhy' <<Gunwfubph dwupus>> << optiuph 34-pn hnnjws:

Quithwpwdht 26: SFudwu wnwplw § hwunhuwunid &dbipniyh dbnppbipnidp.

<h |

Uwutwygh wujwunuip |

<pwybiph

| <pwytph

Uuhwdwww-




wwhwugubiphu wwhwugubiphu nwufuwuntLRjwu

hwdwwwwnwu- shwdwuwwwnwu- hwdwnnwn

fuwtunn hwyjwnbp juwunn hwjwnbip uwpwgpnipjntu
1 W/ Guyuubk Ukpnuywi X

Uwuuwlygh wnwownlwd
Uwutwlhgubtipp
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpwinbignws wbnbnp lgh wtjwtnudp ny lhg ght ( rm?u 0 q
1 U/2 Guywub Ubpnuju X 23,8

Cunpqwsd dwuuwyght npnbint hhpwnyws swihwuhy' <<Gunwdubph dwupti>> << opkuph 34-pn hnnJws:

Quithwpwdhtu 27: Sudwu wnwplyw £ hwunhuwunud pwuwuh dGnppbipnudp.

<pwybiph <pwytiph Uuhwdwww-

wwhwugubiphu wwhwugubiphu nwufuwunLRjwu
<h Uwutiugh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwtunn hwyjwnbp juwunn hwjwnbip uwpwagpnipjniu

1 W/ Guyuuk Ukpnujwi X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiwtnuip ny lhg ght ( rm?u 0 q
1 U/ Guywub Ukpnuju X 101,7

Cunpqwsd dwutuwlyght npnobint fhpwnyws swihwuhy' <<Gunwdubph dwupt>> << optiiph 34-pn hnnws:

Quithwpwdhu 28: Fudwu wnwplw § hwunhuwunud bwphush &dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhuwugubphu wwhwugubiphu nwufuwunLRjw
<h Uwutiulgh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwywnbp juwunn hwjwnbip uywpwgpnipjniu

1 U/ Qujwub Ubkjpnujwi X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiywtnwip nu lhg ght ( r}n?u 0 q
1 U/ Qwywub Ubkjpnujwi X 88,0

Cunpqwsd dwutuwyght npnobint hhpwngws swihwuhy' <<Gunwdubph dwup>> << optiuph 34-pn hnnws:

Quithwpwdht 29: Sudwu wnwplw £ hwunhuwund dwunwphuh dGnppbpnudp.

Lpwybiph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
<h Uwutiugh wtjwindp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwywnbp fuwunn hwjwnbip uywpwagpnipjniu

1 U/ Quywub ULpnujuu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp Ugh wuywiunidp ny lhg ght ( rm?u 0 q
1 U/ Quywub Ubpnujut X 28,0

Cunpqwsd dwutuwyght npnobint hhpwnyws swihwuhy' <<Gunwfubph dwupus>> << optiuph 34-pn hnnjws:

Quithwpwdhu 31: Sudwu wnwplw b hwunhuwunwd Yhipnuh dinppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwu
<h Uwutiugh wtjwinudp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwjwnbip fuwunn hwjwnbip uywpwgpnipjniu

1 U/ Quyuub Ukpnujuu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywé dwutw U (wnwug UUZ, hwg.
qpwnbgnwd wbnting Ugh wuywunrdp ny lhg ght ( rm?u 0 q
1 U/ Guywuk Ubkpnujw X 15,0

Cunpqwsd dwuuwlght npnobint hhpwnyws swihwuhy' <<Gunwiubph dwupt>> << optuph 34-pn hnnws:

Qwihwpwdht 32: Sudwu wnwplw E hwunhuwund hwihiny nwdwph dup dknppbipnudp.

</h Uwutwygh wujwuntdp

<pwytiph
wwhwugubiphu

<pwybph
wwhwusubiphu

Uuhwdwww-
nwufuwunLRjwu




hwiwwwwnwu- shwdwwwwnwu- hwdwnnun
fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 U/ Guywub Ubpnujuu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wujwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qrwinbignuwd whinknp Ugh wtijwunwip ny lhg ght ( rm?u 0 q
1 W/ Swjwub Ubkjpnujw X 514,8

Cunpqwsd dwuuwyght npnobint hhpwndws swihwuhy' <<%unwdubpph Jwupt>>

Quwithwpwdht 33: Fudw wnwplw £ hwunhuwunud onynjwnh dknppbpnudp.

<< opkuph 34-pn hnnpws:

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwufuwunLRjwu
<h Uwutiugh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwtunn hwywnbip fuwunn hwjwnbip uwpwagpnipjniu

1 U/ Guywub Ubpnujuu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiuniip ny lhg ght ( rm?u 0 q
1 W/ Qwjwub Ubkjpnujw X 54,0

Cunpqwsd dwutuwlyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnyws:

Qwihwpwdht 36: Fudwt wnwplyw £ hwunhuwtnud wwuwnbpwgyws Yweh dknppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwusubiphu nwiufuwuntjwu
<h Uwutiulgh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwyinbip fuwunn hwjwnbip uywpwgpniniu

1 U/ Guywub Ukpnujuu X
Uwutwygh wnwownljws
Uwutwyhgutiph
Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiuniip ny lhg ght ( rm?u 0 q
1 U/ Qwjwub Ubkjpnujwi X 98,9

Cunpqwsd dwuuwlght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnyYws:

Qwihwpwdht 37: Sudwu wnwplw £ hwurnhuwtnuw funwgpwsé Yuph dtnppbpnudp.

Lpwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu mnwiufuwunLjwu
<h Uuwutiuiygh wtjulinudp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjinbip fuwunn hwywnbip uywpwgpniniu

1 U/ Quywub ULpnujuu X
Uwutwygh wnwownljws
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiunidp ny lhg ght ( rm?u n q
1 U/ Qwywub Ubkjpnujwi X 60,2

Cunpqwsd dwuuwlyght npnobint hhpwnywsd swihwuhy' <<Gunwfubph dwupt>> << optuph 34-pn hnnws:

Quithwpwdhu 38: Fudwu wnwplw £ hwunhuwunw dwéniup dinppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhuwugubiphu wwhwugubiphu nwufuwuntjwu
<h Uuwutiuygh wjulinudp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu

1 W Guywuk Ubkpnujw X
Uwutwygh wnwownljwsd
Uwuuwlyhgubipp
Uwuuw wudwuntd Cunpywé dwutw U (wnwug UUZ, hwg.
qpunbgnwd wbnting Ugh wuywunrdp ny lhg ght ( rm?u n q
1 U/Q Gujuub Ubkjpnujwu X 176,0

Cunpqwsd dwuuwlght npnobint hhpwnyws swihwuhy' <<%unwfubph dwupu>> << opkuph 34-pn hnnYws:

Quithwpwdhu 39: Fudwu wnwpyw £ hwunhuwunud (nnh wwuhph dGnppbpnudp.

</h Uwutwygh wudwuntdp

<pwybinh
wwhwugubiphu
hwiwwwwnwu-

<pwytinh
wwhwugubiphu
shwdwwwwnwu-

Uuhwdwuww-
nwufuwuntLRjwu
hwdwnnwn




fuwunn hwywnbip

fuwunn hwjwnkip

uywpwgpnipntu

1 U/ Guywub Ubkpnujw X

Uwutwygh wnwownlwd

Uwutwyhgutiph
Uwutw wuduwunwd Cunpywd dwutw U (wnwug UUL, hwg.
qruinbgnwd wbnbpp Ugh wtijwunwip ny lhg ght ( qn?u ) q
1 W/ Guyuuk Ubkpnujwi X 228,0

Cunpqwsd dwuuwyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnyws:

Quithwpwdhu 41: Sudwu wnwplyw E hwunhuwund swpwpwywgh dknppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
<h Uwutiuygh wtjuwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipntu

1 U/ Quywub Ubpnujuu X
Uwutwygh wnwownlwd
Uwutwlhgubtipp
Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiuniip ny lhg ght ( rm?u ) q
1 W/ Swjwub Ubkjpnujw X 168,0

Cunpqwsd dwutuwyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Quithwpwdht 42: Sudwt wnwplw £ hwunhuwund phjh dbnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
</ Vuwtulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwyjinbip fuwunn hwjwnbip uywpwgpniniu

1 U/ Quywub Ubpnujuu X
Uwutwygh wnwownljws
Uwutwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpuwinbgnwsd wnbnbnp Ugh wuwunwip nys lhg ght ( rm?u p q
1 U/ Qujwub Ubkjpnuywi X 19,6

Cunpqwsd dwuuwlyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Quihwpwdht 45: Sudwt wnwplw b hwunhuwunid Yulwngh thnont dbnppbipnidp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu mnwiufuwunLjwu
</ Vuwutulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu

1 W/ Guyuuk Ubkpnujw X
Uwutwygh wnwownljws
Uwuuwlyhgubtipp
Uwutw wudwuntd Lunpdwsd dwutiw U (wnwug UUZ, hwg.
qpwinbignwsd nbnbnp Ugh wuwunwip nys lhg ghts ( rm?u 0 q
1 U/3 Guywub Ukpnuju X 1,5

Cunpqwsd dwutuwyght npnabint hhpwndws swihwuhy' <<Gunwdubph dwupu>> << optiuph 34-pn hnnws:

Quithwpwdhu 46: Fudwt wnwplyw b hwunhuwund Jwuhih dnppbipnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwu
< Vwutuwligh wiuwiunuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu

1 W/ Guywuk Ubkpnujw X
Uwutwygh wnwownljwsd
Uwuuwlyhgubipp
Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp Ugh wywtinuip ny Uhg ght ( rm?u 0 q
1 U/ Quywub Ubkjpnujwi X 2,4

Cunpqwsd dwutuwyght npnobint fhpwndws swihwuhy' <<Gunwfubph Jwupu>>

Quithwpwdhu 47: Sudwu wnwpyw b hwunhuwunu wnwbinh dknppbpnudp.

<< opbuph 34-pn hnnywé:

<pwybph <pwytiph Uuhwdwuww-
wwhwugubtphu wwhwugubphu nwufuwuntRjwu
<h Uwutiugh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnun
fuwunn hwywnbip fuwunn hwjwnkip uywpwgpnipntu




1|

UW/Q Gujwub Uk)pnuyw

| X

Uwutwlhgubtipp

Uwutwygh wnwownlwd

Uwutw wuduwunwd Cunpywd dwutw U (wnwug UUL, hwg.
qpuinbignwd wbnbpp Ugh wtijwunwip ny lhg ght ( rm?u ) q
1 U/ Guywub Ubpnujui X 0,9

Cunpqwsd dwutuwlght npnobint hhpwnywsd swihwuhy' <<Gunwfubph dwupu>>

Quithwpwdht 49: Fudwt wnwplyw b hwunhuwund pphudh dEnppbipnudp.

<< opkuph 34-pn hnnyué:

<pwybiph <pwytiph Uuhwdwww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
< Vuwutulgh widuibnup hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipntu

1 U/ Quyuub Ubpnujuu X
Uwutwygh wnwownlwd
Uwutwlhgubtipp
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpuinbignwd wbnbpp Ugh wuijwunwip nys lhg ght ( rm?u p q
1 U/ Gujwubk Ubkjpnuywi X 98,0

Cunpqwsd dwutuwyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Quithwpwdhu 51: Fudwu wnwpyw £ hwunhuwunud wdpnnowlwtu nuwh dtnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhuwugubphu wwhwugubiphu nwufuwunLRjw
</ Vuwtulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwyjinbip fuwunn hwjwnbip uywpwgpniniu

1 W/ Guyuuk Ukpnujw X
Uwutwygh wnwownljws
Uwutwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiwtnuip ny lhg ght ( rm?u p q
1 U/ Guywub Ukpnuju X 128,0

Cunpqwsd dwutuwyght npnobint hhpwndws swihwuhy' <<Gunwdubph dwupu>> << optiiph 34-pn hnnws:

Quithwpwdhu 52: Sudwu wnwpyw b hwunhuwunw dwywph dGnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
</ Vuwutulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

fuwunn hwjwnbp juwunn hwjwnbip uywpwgpnipjniu

1 W/ Guyuuk Ukpnujw X
Uwuuwlygh wnwownlwd
Uwuuwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiywtnwip nu lhg ght ( r}n?u 0 q
1 U/3 Guywub Ukpnuju X 79,6

Cunpqwsd dwutwlyght npnabint hhpwngws swihwuhy' <<Gunwdubph dwup>> << optiuph 34-pn hnnws:

Quithwpwdhu 53: Fudwt wnwplyw & hwunhuwund hunwdwywnph dbnppbipnidp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwu
< Vwutulgh widuinup hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjwnbp juwunn hwjwnbip Uywpwgpnipjniu

1 W/ Guywuk Ubkpnujw X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp Ugh wywtinuip ny Uhg ght ( r}n?u n q
1 U/ Quywub Ubkjpnujwi X 120,0

Cunpqwsd dwuuwyght npnobint hhpwnyws swihwuhy' <<Gunwfubph dwupu>> << opkuph 34-pn hnnjws:

Quithwpwdhu 55: Fudwu wnwplyw £ hwunhuwund hwyh &nppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-
wwhwugubphu wwhwugubiphu nwufuwunLRjwu
</ Vuwtulgh widuinup hwdwwwwnwu- shwdwuwwwnwu- hwdwnnwn
juwunn hwwnbip fuwunn hwjwnkip uywpwgpnipintu
1 UW/Q Gujwubt Ukjpnuyw X




Uwutwygh wnwownlwsd

Uwutwyhgutiph
Uwutw wuywuntd Cunpywd dwuuw U (wnwug UUL, hwg.
qrwinbignuwd whinknp Ugh wtijwunwip ny lhg ght ( rm?u 0 q
1 U/ Quyuub Ukpnujut X 222,0

Cunpqwsd dwuuwyght npnabint hhpwnyws swihwuhy' <<Gunwdubph dwupti>> << optiiph 34-pn hnnws:

Quwithwpwdht 56: Yudwl wnwplw £ hwunhuwunud dwlwpnup dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwufuwunLRjwu
<h Uwutiugh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwtnn hwywnbp fuwunn hwjwnbip uwpwagpnipjniu

1 U/ Guywub Ubpnujuu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wugwuntd LCunpywsd dwutw U (wnwug UUL, hwg.
qpuinbignwd wbnbpp Ugh wtijwunwip ny lhg ght ( rm?u 0 q
1 W/ Swjwub Ubkjpnujw X 257,6

Cunpqwsd dwutuwyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Quithwpwdht 57: Yudwt wnwplw £ hwunhuwund dwlwpn, uywgbunhh dGnppbpnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
<h Uwutiulgh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwyinbip fuwunn hwjwnbip uywpwgpniniu

1 U/ Guywub Ubpnujuu X
Uwutwygh wnwownljws
Uwutwyhgutiph
Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.
qpwnbgnws wbnting Ugh wuywiuniip ny lhg ght ( rm?u 0 q
1 W/ Swjwub Ubkjpnujw X 70,0

Cunpqwsd dwutuwlyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnyws:

Quithwpwdht 58: Fudwu wnwpyw £ hwunhuwunwd Judint dEnppbpnidp.

Lpwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu mnwiufuwunLjwu
<h Uuwutiuiygh wtjulinudp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu

1 U/ Quywub ULpnujuu X
Uwutwygh wnwownljws
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiunidp ny lhg ght ( rm?u n q
1 U/ Qwjwub Ubkjpnujwi X 80,0

Cunpqwsd dwuuwlyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Quithwpwdht 59: Yudwu wnwpyw E hwunhuwund pw

n plujwdpwphputinh dtnpptinnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhuwugubiphu wwhwugubiphu nwiufuwuntjwu
< Vwutuwligh wuwiunuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu

1 W Guywuk Ubkpnujw X
Uwutwygh wnwownljws
Uwuuwlyhgubipp
Uwuuw wudwuntd Cunpywé dwutw U (wnwug UUZ, hwg.
qpunbgnwd wbnting Ugh wuywunrdp ny lhg ght ( rm?u n q
1 U/Q Gujuub Ubkjpnujwu X 64,0

Cunpqwsd dwuuwlght npnobint hhpwnyws swihwuhy' <<Sunwfubpp Jwupt>>

<< opkuph 34-pn hnnyué:

Quithwpwdhu 60: Fudwu wnwpluw £ hwunhuwund upwdb) Ynudbinnh dbnppbpnidp.
<pwybph <pwytiph Uuhwdwuww-
wwhuwugubiphu wwhwugubiphu nwiufuwuntjwu
< Vwutuwligh wuwiunuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun
fuwunn hwjwnbip fuwunn hwjwnkip uywpwgpnigniu
1 U/ Guywub Ubkpnujw X




Uwutuwyhgutiph

Uwutwygh wnwownljwd

Uwuuw wuywuntd Cunpywd dwutw U (wnwug UUZL, hwgq.
qpuwnbgnws wbntnp Ugh wywtinudp ny lhg ght ( rm?u ) q
1 U/ Qwjwub Ubkjpnujwi X 52,5

Cunpqwsd dwuuwlght npnobint hhpwnywsd swihwuhy' <<Gunwfubph dwupu>>

Quithwpwdhu 61: Fudwu wnwplw £ hwunhuwunud dhijt Ynudbinnh dbnppbipnidp.

<< opkuph 34-pn hnnyué:

<pwybiph <pwytiph Uuhwdwww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
<h Uwutiuygh wtjuwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwjwnbip fuwunn hwjwnkip uywpwgpnipntu

1 U/ Quywub Ubpnujuu X
Uwutwygh wnwownlwd
Uwutwlhgubtipp
Uwutw wugwuntd LCunpywsd dwutw U (wnwug UUL, hwg.
qpuinbignwd wbnbpp Ugh wtijwunwip ny lhg ght ( qn?u ) q
1 W32 Guywb Ukjpnuyw X 42,0

Cunpqwsd dwutuwlght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>>

Qwihwpwdht 62: Sudwt wnwplw b hwunhuwund ywhwénjwgywd ghypniuh dnppbipnudp.

<< opkuph 34-pn hnnyué:

<pwybph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwiufuwuntjwu
</ Vuwtulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwyjinbip fuwunn hwjwnbip uywpwgpniniu

1 U/ Quywub Ubpnujuu X
Uwutwygh wnwownljws
Uwutwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpuwinbgnwsd wnbnbnp Ugh wuwunwip nys lhg ght ( rm?u p q
1 U/ Gujwub Ubkjpnujwi X 21,6

Cunpqwsd dwutuwyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Qwihwpwdht 63: Fudwt wnwpyw § hwunhuwund ywhwsdnjwgywsd bighwwuwgnpbuh dtnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwusubiphu mnwiufuwunLjwu
</ Vuwutulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjinbip fuwunn hwjwnbip uywpwgpniniu

1 W/ Guyuuk Ubkpnujw X
Uwutwygh wnwownljws
Uwuuwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwinbignwsd nbnbnp Ugh wuwunwip ny lhg ghts ( rm?u 0 q
1 U/3 Guywub Ukpnuju X 21,6

Cunpqwsd dwutuwlyght npnobint fhpwnyws swihwuhy' <<Gunwdubph dwup>> << optiuph 34-pn hnnws:

Quithwpwdht 64: Fudwt wnwplyw b hwunhuwunid onYnjunwujwun Ynudbinnh stnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
< Vwutuwligh wuwiunuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

juwunn hwjwnbp juwunn hwjwnbip Uywpwgpnipjniu

1 W2 Guywub Ubkpnujw X
Uwutwygh wnwownljwsd
Uwuuwlyhgubipp
Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp Ugh wywtinuip ny Uhg ght ( rm?u 0 q
1 U/ Quywub Ubkjpnujwi X 103,2

Cunpqwsd dwutuwyght npnobint hhpwnyws swihwuhy' <<Gunwfubph dwupus>> << optiuph 34-pn hnnws:

Quithwpwdht 66: Fudwu wnwpyw £ hwunhuwunwd onynjunt wpunwnpwuph, Yhunbiph dkinppbipnup.

<pwybph <pwytiph Uuhwdwuww-
wwhwugubphu wwhwugubiphu nwufuwuntRjwu
< Vwutulgh widuinup hwiwwwwnwu- shwdwwwwnwu- hwdwnnun
juwunn hwjwnbp fuwunn hwjwnbip Uywpwgpnipjniu
1 U/ Guywub Ubkpnujw X
| Uwutwyhgubiph | Uwutwygh wujwunudp | Cunpywsd dwutwlhg | Uwutwygh wnwownplwd |




qpuintignws wbinbkipp

ghtu (wnwug UUL, hwg.
npwu)

1

U/ Guywub Ubpnujui

X

115,2

Cunpqwsd dwutuwlyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupus>> << optiuph 34-pn hnnws:

Quithwpwdht 67: Fudwu wnwplw § hwunhuwund wplwdwnyh dbph dknppbpnudp.

<pwybiph <pwytiph Uuhwdwww-

wwhwugubiphu wwhwugubiphu nwufuwuntLRjwu
< Vuwutulgh widuibnup hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

juwunn hwywnbip fuwunn hwjwnkip uywpwgpnipntu

1 W/ Guyuubk Ukpnuywi X
Uwutwygh wnwownlwd
Uwutwlhgubtipp
Uwutw wudwuntd Lunnpdwsé dwutw U (wnwug UUL, hwg.
qpwinbignws wbnbnp lgh wtjwtnudp ny lhg ght ( rm?u p q
1 U/2 Guywub Ubpnuju X 52,8

Cunpqwsd dwuuwlyght npnbint hhpwnyws swihwuhy' <<Gunwdubph dwupti>> << opkuph 34-pn hnnJws:

Quithwpwdhu 68: Fudwu wnwplw £ hwunhuwunw Gghwwwgnptuh dbph dknppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhuwugubphu wwhwugubiphu nwufuwunLRjw
</ Vuwtulgh wiiduitnuip hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

fuwunn hwywnbp juwunn hwjwnbip Uywpwgpnipjntu

1 W/ Guyuuk Ukpnujw X
Uwuuwlygh wnwownlwd
Uwutwlyhgubtipp
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiwtnuip ny lhg ght ( rm?u 0 q
1 U/ Guywub Ukpnuju X 79,2

Cunpqwsd dwutuwlght npnobint hhpwnyws swihwuhy' <<Gunwdubph dwupti>> << opkuph 34-pn hnnJws:

Quithwpwdhu 69: Fudwu wnwpyw £ hwunhuwunw nindwinh dwdniyh dGnppbpnudp.

<pwybph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
<h Uwutiugh wtjwindp hwiwwwwnwu- shwdwwwwnwu- hwdwnnun

fuwunn hwjwnbp juwunn hwjwnbip uywpwgpnipjniu

1 U/ Guyuuk Ubkpnujwu X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunndwé dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp lgh wtiywtnwip nu lhg ght ( r}n?u 0 q
1 U/3 Guywub Ukpnuju X 23,75

Cunpqwsd dwutuwyght npnobint hhpwndws swihwuhy' <<Gunwdubph dwup>> << optiiph 34-pn hnnws:

Quithwpwdht 70: Fudwu wnwplyw E hwunhuwunud inbnulwu otdh dknppbpnidp.

Lpwybiph <pwytiph Uuhwdwuww-

wwhwugubphu wwhwugubiphu nwufuwuntRjwl
<h Uwutiugh wtjwindp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwjwnbip fuwunn hwjwnbip uywpwgpnipjniu

1 U/ Qwjwub Ubkjpnujwi X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunnpdwsd dwutw U (wnwug UUZ, hwg.
qpwnbignws wbnbnp Ugh wywtinuip ny Uhg ght ( r}n?u n q
1 U/ Quywub Ubpnujut X 22,5

Cunpqwsd dwutuwyght npnobint hhpwnyws swihwuhy' <<Gunwfubph dwupus>> << optiuph 34-pn hnnjws:

Quwihwpwdht 72: Sudwu wnwplw £ hwunhuwunud ppnynihh dinppbipnudp.
<pwybiph <pwytiph Uuhwdwuww-
wwhwugubphu wwhwugubiphu nwufuwuntRjwu
<h Uwutiugh wtjwinudp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn
fuwunn hwjwnbip fuwunn hwjwnbip uywpwgpnipjniu
1 U/ Quywub Ukpnujuu X
Ywutulihgutinh Uwutiwlgh wuywnwp Cuwnnywd dwubwlhg Uwutuilgh winwguinljws

qpuwntignws wbinbkipp

ghu (wnwug UUL, hwg.




nnwd)

1

U/ Guywub Ubpnujut

X

28,0

Cunpqwsd dwuuwyght npnobint hhpwndws swihwuhy' <<Gunwdubph Jwupt>>

<< opkuph 34-pn hnnpus:

Quwithwpwdhu 73: Sudwu wnwplw £ hwunhuwund hpwgnwt hwgh dGnppbipnudp.

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwufuwunLRjwu
<h Uwutiugh wtjwinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwtunn hwyjwnbp juwunn hwjwnbip uwpwagpnipjniu

1 U/a Ujpbpwn Skp-SGwjunjui X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwutw wudwuntd Lunpdwé dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp lgh wtjwtnudp ny Uhg ght ( rm?u 0 q
1 U/2 Ujpkpwn SEp-Qwjumju X 1135,9

Cunpqwsd dwuuwyght npnobint hhpwndws swihwuhy' <<Gunwdubph Jwupt>>

Quithwpwdhu 74: Sudwu wnwpyw b hwunhuwunad jwdwoh dGnppbpnudp.

<< opkuph 34-pn hnnpus:

<pwybiph <pwytiph Uuhwdwuww-

wwhuwugubphu wwhwugubiphu nwufuwunLRjw
<h Uwutiulgh wtjuinudp hwiwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwywnbp fuwunn hwjwnbip ulwpwagpnipjniu

1 U/a Uppbpwn Stp-QGwjunjui X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwulw wugwuntd Cunpywsd dwutw U (wnwug UUL, hwg.
qpwnbignws wbnbnp Ugh wuywiuniip ny lhg ght ( rm?u 0 q
1 UW/a Ujptpin Skp-Qwjunju X 122,5

Cunpqwsd dwutuwyght npnobint hhpwndws swihwuhy' <<%unwdubph Jwupt>>

Quwithwpwdht 75: Fudwb wnwpyw § hwunhuwunwd pnyyhubiph dGnppbpnudp.

<< opkuph 34-pn hnnjws:

<pwybiph <pwytiph Uuhwdwuww-

wwhwugubiphu wwhwugubiphu nwufuwuntRjwl
<h Uwutiugh wtjwindp hwlwwwwnwu- shwdwwwwnwu- hwdwnnwn

fuwunn hwywnbp fuwunn hwjwnbip uywpwagpnipjniu

1 U/3 Uppkpwn Stp-Gwjunju X
Uwuuwlygh wnwownlwd
Uwutwyhgutiph
Uwuuw wudwuntd Cunpywd dwutw U (wnwug UUL, hwg.
qpwnbgnwd wbnting Ugh wuywiunidp ny lhg ght ( rm?u p q
1 UW/a Ujptpin Skp-Qwjuinju X 17,0

Cunpqwsd dwuuwlyght npnobint Yhpwnywsd swihwuhy' <<Gunwiubph dwupu>> << optiuph 34-pn hnnYws:

Unyu hwynwpwpnipjwt hbn uwdwé jpwugnighs wbinbynigyniuubp unwtwint hwdwp Jupnn bp nhdby
<<L-oUULNUY-FLUNAR-17/1>> dwdlwanpny quwhwinnn hwuduwdnnnyh pwpwnninup ©. Swpniypyniujwuhu:

<hnwfunu' 093-74-48-26:

ElEyunpnuwht thnun' gnumnerlusavan@mail.ru:

Muunydhpwwnnt' <<Ohstnuwl>> J/dwuuyupunbkg <NULY




